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x—0+0
. (1/2 )
f(0+0) = limf(x) = lim ——*= =1,
"_'°+0f le +(1/2 )
£0-0) = i ()—l'mle_l——l
- r—-loon;lofx - xi‘OZ% +1 - )

(0 +0) #f(0-0),8f(x) TEx = 0 bWIMIRAFFAE, AIMAE x = 0 A ARELE.
25.

(1) & x = 0 & f(x) BT RIWTA, MALER

lim e = b = o,
0 (x —a)(x-1)
i Gm )G =1 _(a) (=D _ a__g
=0 e —b e’ —b “1-b
B, M a =0,b # 18 ,x =02 f(x) BTT5EIKA.
(2) Fx = 1R fC) TR, Mllim 0 T, K
-1 b
e - b _ e(e _:)

(x-a)(x-1)  [(x-a)(x-1)]"

NHEKIY x> 10f,x-1—0," =1 ~x—-1,AYb = e, H

e -b . e(e! 1) e(x - 1)
G0 MG-00t-1) PG-a)(z-1)
= lim €

slx—a 1 -a
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1.[C].
5,3
lim SEYL =L — 0 B (0) = 0. E[C].
2.[C].
B 32° AMAMERBTT S B RTEE | x| £ o(x) , ERDBRES .« = 0 BiEHEA.
B -x, x<0, ) _[=3x", x<0,
¢(x) —{x3, x?O, :qp (x) _{33\73, x>0,
X o' +(0) = («') = (). |,_, =0,
@' (0) = (-2)"_1,., = 0=¢'(0) =0y
2
il ¢'(x) = {-33 » #=0,
3%, x =0;
_ bt " 6x, x <0, " .
EELDEt! o'(x) = { o oso @O =0;
” _ 6x, x<0, B
& ‘P(x)_{6x, x=0 =6lx|
By = |x|FEx = 0 RA[F =¢"(0) ANFTE. FrLANEE] C].
3.[B].
Mt e (0,%)5‘1‘,5\1 e (0,1).
(_i)_f 3sin’tcost _
dx ~ 3cos’t( - smt) = - tant <0,
2
%Z —(-tant) = —(—tant) 3;
= - sec’t - ] : > 0.
3cos’t( — sint) 3cos tsint
k[ B].
4.[D].

m%ﬂﬁhmﬂ £ - 1HA0) =0, £7(0) = 1. 4 F(x) = f(x) —x,0 F'(x) =

f'(x) =1,F"(x) =f"(x) >0.
FRF'(x) 7E(-6,8) WEFEM, B F'(0) =0. %x e (-8,0) B, F'(x) <
F'(0) =0;%x e (0,8) Bf,F'(x) > F'(0) =0. AJ Il F(x) fEs5 x = 0 ZbHUR/IME,
BB /IME , NTTA F(x) > F(0) = 0,80 f(x) >x,x e (-86,8),HUMik[D].
5.[A].
We(x) =f(x) —x,M o' (x) =f"(x) -f,¢"(x) = f"(x).
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